
Item Description: Item Number:

Technical Information:

Slide Nuts (SLN): General Information:

SLN HS M6 - S8 1.20.2816.0

Function: Fixes components to profi les. 

Features:
1.  Self aligning and cannot be rotated once 
inserted into the profi le slot.

2. Easily repositioned once inserted into the aluminium profi le slot by sim-
ple sliding actions.

3. Blank ‘slide nut profi le’ are available in two lengths (300mm & 1000mm, 
see section 3.56).

Item Description Dim -A- Weight (g) Colour Finish Material

SLN HS M6 - S8 M6 20.0 Blue Zinc plated Steel

-A-

8

3.58

M6
S3.62

M6
S3.62

M6
S3.52



Item Description: Item Number:

Technical Information:

Roll-in Nuts (RIN): General Information:

RIN M5 - S10 C096085F

RIN M6 - S10 C096086F

RIN M8 - S10 C096088F

Function: Fixes components to profi les. 

Features:
1. The spring pushes the ‘spring nut’ to the top of the profi les slot making 
it easy to engage the fastener. 

2. Self aligning and will not rotate once inserted into the profi le slot.

3. Can be inserted into the profi le slots after the profi le ends have been 
covered or connected to adjoining members.

Item Description Dim -M- Weight (g) Colour Finish Material

RIN M5 - S10 M8 13.0

Blue Zinc plated SteelRIN M6 - S10 M6 12.0

RIN M8 - S10 M8 11.0

10

10

10

3.59

All
S3.62

All
S3.62

All
S3.52



L L L

Screws

M4 x 6 - - - 1.24.0406.0

M4 x 10 1.21.0410.0 1.22.0410.0 1.23.0410.0 -

M4 x 12 1.21.0412.0 1.22.0412.0 1.23.0412.0 -

M4 x 16 1.21.0416.0 1.22.0416.0 1.23.0416.0 -

M4 x 20 1.21.0420.0 1.22.0420.0 - -

M4 x 25 1.21.0425.0 - - -

M5 x 8 - - 1.23.0508.0 -

M5 x 10 1.21.0510.0 1.22.0510.0 1.23.0510.0 1.24.0510.0

M5 x 12 1.21.0512.0 1.22.0512.0 1.21.0512.0 1.24.0512.0

M5 x 16 1.21.0516.0 1.22.0516.0 1.21.0516.0 1.24.0516.0

M5 x 20 1.21.0520.0 1.22.0520.0 1.21.0520.0 1.24.0520.0

M5 x 25 1.21.0525.0 1.22.0525.0 - -

M5 x 30 1.21.0530.0 1.22.0530.0 - -

M5 x 35 1.21.0535.0 - - -

M5 x 40 1.21.0540.0 - - -

M5 x 45 1.21.0545.0 - - -

M5 x 50 1.21.0550.0 - - -

M6 x 8 - - 1.23.0608.0 -

M6 x 10 1.21.0610.0 1.22.0610.0 1.23.0610.0 1.24.0610.0

M6 x 12 1.21.0612.0 1.22.0612.0 1.23.0612.0 1.24.0612.0

M6 x 16 1.21.0616.0 1.22.0616.0 1.23.0616.0 1.24.0616.0

M6 x 20 1.21.0620.0 1.22.0620.0 1.23.0620.0 1.24.0620.0

M6 x 25 1.21.0625.0 1.22.0625.0 1.23.0625.0 -

M6 x 30 1.21.0630.0 1.22.0630.0 1.23.0630.0 -

M6 x 35 1.21.0635.0 1.22.0635.0 1.23.0635.0 -

M6 x 40 1.21.0640.0 1.22.0640.0 - -

M6 x 45 1.21.0645.0 - - -

M6 x 50 1.21.0650.0 - - -

M8 x 8 - - - 1.24.0808.0

M8 x 10 - - - 1.24.0810.0

M8 x 12 1.21.0812.0 1.22.0812.0 1.23.0812.0 1.24.0812.0

M8 x 16 1.21.0816.0 1.22.0816.0 1.23.0816.0 1.24.0816.0

M8 x 20 1.21.0820.0 1.22.0820.0 1.23.0820.0 -

M8 x 25 1.21.0825.0 1.22.0825.0 1.23.0825.0 -

M8 x 30 1.21.0830.0 1.22.0830.0 - -

M8 x 35 1.21.0835.0 1.22.0835.0 - -

M8 x 40 1.21.0840.0 - - -

M8 x 45 1.21.0845.0 - - -

M8 x 50 1.21.0850.0 - - -

M8 x 60 1.21.0860.0 - - -

M8 x 70 1.21.0870.0 - - -

M10 x 20 1.21.1020.0 1.21.1020.0 - -

M10 x 25 1.21.1025.0 1.21.1025.0 - -

M10 x 30 1.21.1030.0 1.21.1030.0 - -

M12 x 25 1.21.1225.0 1.21.1225.0 - -

Item Description
Socket Head 
Cap Screws

Button Head             
Screws

Counter Sunk 
Screws

Grub Screws  

3.60



Technical Information:

Technical Information:

Technical Information:

L L L

Screws

Washers

Nuts
Item Description M5 M6 M8 M10 M12 M16 M20 M24

Hex. Nuts 1.32.2005.0 1.32.2006.0 1.32.2008.0 1.32.2010.0 1.32.2012.0 1.32.2016.0 1.32.2020.0 1.32.2024.0

Wizz Nuts 1.32.0005.0 1.32.0006.0 1.32.0008.0 1.32.0010.0 1.32.0012.0 1.32.0016.0 1.32.0020.0 1.32.0024.0

Nyloc Nuts - 1.32.1006.0 1.32.1008.0 1.32.1010.0 1.32.1012.0 1.32.1016.0 - -

M12 x 30 - - - -

M12 x 40 - 1.22.1240.0 - -

M12 x 50 - 1.22.1250.0 - -

Material Steel 12.8 zinc plated Steel 12.8 zinc plated Steel 12.8 zinc plated Steel 12.8 zinc plated

Item Description
Socket Head 
Cap Screws

Button Head             
Screws

Counter Sunk 
Screws

Grub Screws  

Item Description M4 M5 M6 M8 M10

Flat 
washers

1.31.0004.0 1.31.0005.0 1.31.0006.0 1.31.0008.0 1.31.0008.0

Counter
sunk
washers

- 1.31.1005.0 1.31.1006.0 1.31.1008.0 -

3.61



A
cc

es
so

ri
es

Section 4

4.00



Table of Contents:

Page:

Hinges:

4.01

Plastic Hinge (PH)

PH 30 x 30

PH 30 x 45

Heavy - Duty Plastic Hinge (HPH)

HPH 45 x 45 - S10

Door Hinges (Hinge)

Hinge 70 - 50 M6

Hinge 70 - 50 M8

Hinge 80 - 102 M6

Hinge 80 - 102 M8

Plastic Combi Hinge (PCH)

PCH 20 x 20 - S6

PCH 25 x 25 - S8

PCH 30 x 30- S8

PCH 30 x 40

PCH 40 x 40 - S10

PCH 45 x 30

PCH 45 x 45 - S10

PCH 45 x 60

PCH 60 x 60 - S10

Plastic Combi Hinge & Locking Lever (PCH&LL)

PCH&LL 30 - S8

PCH&LL 40 - S8

PCH&LL 45 - S10

Plastic System Hinge (PSH)

PSH 30 x 30

Detachable Plastic Combi Hinge (DPCH)

DPCH 30 x 30 - S8, L

DPCH 40 x 40 - S10, L

DPCH 45 x 45 - S10, L

DPCH 30 x 30 - S8, R

DPCH 40 x 40 - S10, R

DPCH 45 x45 - S10, R

Metal Hinges (MH)

MH 40 x 40

MH 50 x 50

MH 50 x 65

Metal Hinges (MH)

MH 50 x 76

MH 50 x 80

MH 60 x 60

Detachable Metal Hinge (DMH)

DMH 30 x 30 - L

DMH 40 x 40 - L

DMH 30 x 30 - R

4.09

4.09

4.09

4.10

4.10

4.11

4.11

4.11

4.11

4.11

4.12

4.12

4.13

4.13

4.13

4.13

4.13

4.13

4.13

4.13

4.14

4.14

4.14

4.14

4.15

4.15

4.16

4.16

4.16

4.16

4.16

4.16

4.16

4.17

4.17

4.17

4.18

4.18

4.18

4.19

4.19

4.20

4.20

4.20

4.20



Table of Contents:

Page:

Hinges:

Handles:

Catches & Latches:

4.02

DMH 40 x 40 - R

Metal Combi Hinge & Locking Lever (MCH&LL)

MCH&LL 45 x 45 - S10

Metal Hinge - Constant Friction (MHF)

MHF 58 x 51 

Positioning Metal Hinge (PMH)

PMH 60 x 60

Die-Cast Zn Hinge 40, Oblong Holes (OHH)

OHH 40 x 80

Detachable Stainless Steel Hinge (DSSH)

DSSH 50 x 50

Stainless Steal Hinge (SSH)

SSH 60 x 60

SSH 20 x 20

Bridge Handles (MH)

HDL 122

HDL 152

Ergo Handles (HDL - E)

HDL - E94

HDL - E117

Variable Handle (HDL-V)

HDL-V End Piece

HDL- V Support

4.20

4.21

4.21

4.22

4.22

4.23

4.23

4.24

4.24

4.25

4.25

4.26

4.26

4.27

4.28

4.28

4.28

4.28

4.28

4.28

4.29

4.29

4.29

Machine Handle (HDL-M)

HDL-M240

Hand Wheel (HW)

HW40

Ratchet Handles (HDL-R)

(1) HDL-R M6 x 20

(2) HDL-R M8 x 25

4.30

4.30

4.31

4.31

4.32

4.32

4.32

Slam Latch (SL)

SL - Universal 

SL - Unique

Ball Latch (BLT)

BLT - M3

BLT - M4

Door Latch (DL)

DL 66 x 38

Ball Catch (BC)

BC- Light

BC - Strong

Magnetic Catch (MC-F)

MC - F

4.33

4.33

4.33

4.34

4.34

4.34

4.35

4.35

4.36

4.36

4.36

4.36

4.36



Table of Contents:

Page:

Mounting Pads & Casters:

Catches & Latches:

4.03

Spacer for Ball Carch (BC-Spacer)

BC - Spacer

Mounting Pads (MPD)

MPD 40 x M8/60MS

MPD 40 x M8/35MS

MPD 40 x M10/60MS

MPD 60 x M12/65MS

MPD 60 x M16/65MS

MPD 90 x M12/65MS

MPD 90 x M1665MS

4.37

4.37

4.38

4.38

4.38

4.38

4.38

4.38

4.38

4.38

Swivel Feet Base - Nylon (SWB-N)

SWB - N 30

SWB - N 40

SWB - N 45

SWB - N 50

SWB - N 60

SWB - N 80

SWB - N 100

Swivel Feet Base - Die Cast Zinc (SWB-Zn)

SWB - Zn 30

SWB - Zn 40

SWB - Zn 45

SWB - Zn 50

SWB - Zn 60

SWB - Zn 80

SWB - Zn 100

SWB - Zn 120

Swivel Feet Base - Stainless Steel (SWB-SS)

SWB - SS 30

SWB - SS 40

SWB - SS 45

SWB - SS 50

SWB - SS 60

SWB - SS 80

SWB - SS 100

SWB - SS 120

Extended Base - Die Cast Zinc (EXB-Zn)

EXB - Zn 80

Eco Feet Base - Nylon (ECB-N)

ECB - N 30

ECB - N 40

Eco Feet Base - Die Cast Zinc (ECB - Zn

ECB - Zn 30 / ECB - B Zn 30

ECB - Zn 40 / ECB - B Zn 40

4.39

4.39

4.39

4.39

4.39

4.39

4.39

4.39

4.40

4.40

4.40

4.40

4.40

4.40

4.40

4.40

4.40

4.41

4.41

4.41

4.41

4.41

4.41

4.41

4.41

4.41

4.42

4.42

4.43

4.43

4.43

4.44

4.44

4.44



Foundation Brackets:

Mounting Brackets:

Table of Contents:

Page:

Mounting Pads & Casters:

4,04

Compact Feet Base (CFB)

CFB 60

CFB 80

CFB 100

Duck Feet (DF)

DF M16 x 100

DF M16 x 150

DF M16 x 200

DF M16 x 250

DF M16 x 300

Threaded Rod for Swivel Feet

Threaded Rod for Eco Feet

Threaded Rod for Compact Feet

Castors without Brake (CST)

CST 50

CST 75

CST 100

CST 125

CST 125 - Antistatic

Castors with Brake

CST 50 B

CST 75 B

CST 100 B

CST 125 B

CST 125B - Antistatic

Transport Plates (TP)

TP 30 x 60

TP 45 x 90

TP 90 x 90

Foundation Brackets (FBR)

FBR - R

FBR - L

Base Plates (BPT)

BPT 45 x 45

4.45

4.45

4.45

4.45

4.46

4.46

4.46

4.46

4.46

4.46

4.47

4.47

4.48

4.49

4.49

4.49

4.49

4.49

4.49

4.50

4.50

4.50

4.50

4.50

4.50

4.51

4.51

4.51

4.51

4.52

4.52

4.52

4.53

4.53

BPT 45 x 90

BPT 90 x 90

4.53

4.53

Mounting Brackets (MBR)

MBR 30 x 30

MBR 40 x 40

Panel Mounting Brackets (PMB)

PMB

Swivel Fastener (SWF)

SWF

4.54

4.54

4.54

4.55

4.55

4.56

4.56



Table of Contents:

Page:

Linear Motion:

End Covers & Cover Profiles:

4.05

Cover Profi les (CPF)

CPF - S8

CPF - S10 Black

CPF - S10 Grey

End Covers (ECV)

ECV 19 x 32

ECV 19 x 45

ECV 20 x 20

ECV 30 x 30

ECV 45 x 45

ECV 45 x 60

ECV 60 x 60

ECV 45 x 90 

ECV 90 x 90

Cover Profi les (ECV-R)

ECV 30R

ECV 45R

End Covers (ECV-H)

ECV 30 x 30 H

ECV 45 x 45 H)

ECV 45 x 60 H

ECV 60 x 60

Support Wheel (SW)

SW - A

SW - B

SW - C

Gravity Rollers (GR)

Ø25 GR/Ø8 Shaft - PVC Roller

Ø50 GR/Ø8 Shaft - PVC Roller

Ø50 GR/Ø10 Shaft - PVC ROller

Ø25 GR/Ø8 Shaft - Galvanized Steel Roller

Ø50 GR/Ø8 Shaft - Galvanized Steel Roller

Ø50 GR/Ø10 Shaft - Galvanized Steel Roller

Ø25 GR/Ø8 Shaft - Aluminum

Track Roller Mounting (TRM)

TRM - Ø8

Roller Track (RT)

RT - Large

RT - Small

Tool Hanger (THG)

THG - S10

Sliding Pieces (SLP) 

SLP 80A - S10

SLP 1000A - S10

4.57

4.57

4.57

4.57

4.58

4.58

4.58

4.58

4.58

4.58

4.58

4.58

4.58

4.58

4.59

4.59

4.59

4.59

4.60

4.60

4.60

4.60

4.61

4.61

4.61

4.62

4.63

4.63

4.63

4.63

4.63

4.63

4.63

4.63

4.64

4.64

4.65

4.65

4.65

4.66

4.66

4.67

4.67

4.67


